O PHI+T4TH

ZOOIOGY ...:;{;-:_[jgn'oy.rs}. -

Time : Four Houﬁ_

e _,zgums in rﬂ?e marg;:: :rzd:cate f it mm}c.s

Group

Ansmr any Jour of zhe followmg
(é) What 1s amplmnms ke
(b) Haw a gastrozoozd dtﬂ'ers frcsm 2 genozooid

. (c) .W'}}Y-":is"::the_-i'Ii'vigg_:' As-mﬁ& nOt d‘igest .e‘i.-iff'ﬂ'zh .
{d) What is coslomodiret 7 -

{e) Wi:l.al is mxal-g}aﬁd;.-? R
{fy Deﬁn:temon. |

2. Answer any four of the fo}lewmg B

(@) W abwz the significancé of: con] ugation
)] Wnte 2Toieon 51gmficancc t}f metamensm

(c) Writé a fote on ¢

ype' m mefe*a
(d) Wntc in bnm'abm_;t the ccmnonm in h{m’; '




(2;

' (c} Whv Hre echmoderms con:-xdered more lc
related to chordates

(0 Stafe the parasitic ada;&tsﬁm"of Fasciola §

3. Answer any fwo of the following : 104 %

" {a) Classify phylum mollusca upto sub c!ass
suatable reasons and examples.

(b) Give 2 brief account .of canal system of ch
Wnte on its clgmﬁmnoe

() stcuss 11 dctall thc simctum of an insec
emphasizing on the mcchanum of i
- formaticn. : i

. (). Diescribe the life history of Fesciola kepfat
Discuss briefly on its eontrol megstires.
Group =B : :
4. Answer any four of the following :.
(a) What is fitter feeding-? Cite example
" (b) What is scroll valve 7 -
- {cy Mention two effects of neurqtqi:j-:' veno'm,.-
{d) What is pecten ? State its function.
(e) What is blubber ? - '
(H What is ductus cam_ti{:us 2
5. Answer any four of the follewing .
{a} Expiain nedteny and paedogenssis.

{by Write a short rsote on endostyle
{c) Describethe stracture of A0CESSOTY resplratory'

(d) Give a comparative account befween horm and '

{e} Write a note on echolocation in bat

. Answer zny iwo of the following :

(3)

organ of clarfus spi

antler,

(f) Write 2 shert note on ammococte larva, g
3x2= 21 :' :
(a) Classify living reptiles upto sub-order ieva:lwzthl.j

suitable reasons and examples. "

{b) Compare bnefly the structure of aortic arches: m
~ vertebrates. :

) Descnbc about the acrodynamics in the f'ilgh
‘mechanism of birds. T

{d) Give an account of parental carc n amphibi:i "
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2010
ZOOLOGY (Honours)
. Teap ?APER
arks : 90 Time : Four Hours

The jigures in the margin indicate full marks.
Group - A
©_(CeHi Biology znd Histofogy)
1. Answer any four questions 2x4=8 .
 {a) Whatis tubulin 7
{b} Give the sources of Haematoxylin and Carmine.
(c) Define fixative, '
{d) What is proto-oncogeneg ?
(¢} What is Philadelphia chromosome 7
() Define mordant.
2. Answer any foﬁr questions 4x4=16
(2) Wrile a note on peimary cell culture,

{b) Explain the purpese of metal shadowing in
relation to microscopy.

{c) Define continuous and ‘discontinuous celhular

secrehon. -

. PTO.
3?1225



4 (2)
(d) Why cytoskeleron is stated to be dvnamic ¥
(e} What is microtormy ? ..
() Differentiate dye ang stafn,

(3)
(€) Wite full forms of DTP and BCG.
() What is F, region ? - _
5. Answer any four questions ; Axid=16

{a) Provc that crossing over occurs at four stranded _

3. Answer any fwo questions : IO-'—:XZ*
2 s

: stage.
@ Deseribe the structural defails of an elec & _ . .
mpcroscope. Discuss itg working principles. (b} What are the characteristics of X-linked recessive .
. inheritanee 7
§+2 .
(5) Wh i {c) What is a gynandromorph? Add a note on
; at do you understand by <ancer 7 Dise mosachisni,
& properties and bahavi 1 :
aviour of a cancer celt, (d) What is a macrophage? State is role in immune.
2L systern, :

(e} Explain Clonal selection Thypothesis of

{c) Write the mechanisy of ATP synthesis by A
immune sesponse.

Synthase in the mitochondrial inner membrang,
10 {f) Write 2 note on functional cytokines.

(d) Outline the process of a2+ signaling pathwa 6. Answer any two questions : 104 x2=2] |

that invol moduk
olves cal fin, 10 {a) Discuss the cytological basis of crossing over.

Give one experimental evigence to show that
crossing over ocour dug to brealage and reynion

104

Group - B
(Genctics and Immunejogy)
4. Answer any four quesions 2x4=
{2} What is hemizypocity 7
¢b) What is non-sense mutation 7
{c) What is Bolandric it 7
d) Differentiatc_ between triploidy and trisomy ?

(b) Singed bristles (Sn), Cross veinless wings ()
and vermilion eye {v) colour are due to recessive
mutant alleles of three sex-linked genes in
Drasophila. When a female heterozysous for

P.T.O.

R - 22%



1. (4)
each of the fhiee genes was test crossed
singed, cross veinless, vermilion wmat
following. progeny were obtained

Singed, Cross veinless, Vermilion—
Crossveinless, Versilion—
Vermtion—-

Crossveinless—

Singed, Cross veinless—

Singed, Venmilion—

Singed—

Wild type—

What is the correct order of the three genes

the chromosome ? What are the genetic o
distances between these genes ? What

coefficient of coincidence 7 31+4
(¢} What do you mean by B-cell activation 7 P

that both T-cell and B-cell are responsible
immune response. Describe the role of Ty

in the activation of B cell, 2+3+5 =

(&} Explain the principte of vaccination, Explain
active and passive immunization with example
347

Poil (1141jH/

ZOOLOGY . (Honours)
FourtH ParER
5:90 . ~ Time: FourHvau.r,s

.e figures in the mayrgin indicate Sull marks.
Gronp - A
(Ecology)

i Angwer any four questions :

(a) Define ecosysteml.

() What is edge-effect ?

(c) Whas is Helisotherm ?

{d) What in lithosers ?

(e} Define commensalism.

() What is facubtative parasite 7

248

2. ADSWCI‘ any four queSﬂOllS 4><4—-15.

{a) Dlstmgulsh between grazing and deiritus food-
@) Explain Bergman's principle with appropria!e,.
examples.

{c) State the chamctcnsncs of euphot:c, aphotic and
disphotic zone in relation o antmal distrfbution; )

PTO.




LA .
{d} Explain Lindemann’s ten percent rule reg
energy-flow in an evosystem. '

(e} Describe the bmlogmai chardcter‘. of Tu
biome. ..

(& Explain predation and forage ratio.
3. Answer any fwo questions : 1043

{a} Explain prey-predator refationship with the
of Lotka-Valterra miode]. 1

{b) Explain habltaL trophtc and hypen olume nr
with suitable exampleq

{c) Mention the cempoucnts of ecosysiein. Bxp

biological nitogen fixation, )
) Disc_uss phenotypic plasticity. Explain ctj
pattern theory, - . : S5
Group - B
(Zoogeography, Wildlife and BlodwerSity)
4, Amwerauyfawqu&:ﬂons S ax
{a) Mention the parent and daughter
atoms in case:
of radis-catbon dating of Fossis,

{b) Expand IARI and BNHS,
(c) What is Wallaoe line ?
(d) Whal is aﬁbrwtaﬁon ’? .

03
fe) What is red dam book ?
() Define em.

. 3. Answer any four questions 4".4:1&
{a) How petrified fossils are formed ? '

{b) Name the zoogeographical realms proposed by
Sclater (1858). To which realm does Lepick)suen
exist ?

{cY How continental drift mfluenccs the faunal
distribution 7 :

{d) Writc a note on biosphere reserve.
(e) Write a short note on bioindicator. N
{D) Define Endangered category of animal aﬁé_!
distinguish it from a vulnerable category. '
6. Answer any two questions : 10-‘-XZ—~21

(a) What is the significance of the study of
Zoogeography? Mention i{he noteworihy
evolutionary advancements of animal groups

during Palacozeic eta. 5+54
(b) Whiat is biodiversity hotspot ? Mention the faunal
characteristics of any one megadiverse zonc of
India. 2483

S T F A 5



(¢} Enumierate the caises of wiidlife dep
Describe the strategies of wikitife conse

{d) Describe the role of different barriers in
the dispersai of terrestrial animals.

. B I {Three.
Under 1+1+1 38
2010
_ZOOLOGY (Honours)
FIRST PAPER:

{ Revised New Syllabus }
: 4 hours Fuldl Mar.ks : 90

‘The figures in the margin indicate full marks.

[ Animal .Diversi'ty—l }

Answer any- four questions :. : . .2><4'_¥S=
{a) Give an example of a protozoan with— -
fij mixotrophic mutrition;
(f} coprozeic mutrition.

fb) What  are the advantages of |
multicelbularity?

fcg What are the festures of a lagoon?

{d)' Natne two ciliary bands of Trocophore
larva.

fe} “Pilais an amphibious animal ™ Justify.
(# Differentiate between nymph and
maggot.

MRD—370/39 {.Tum, Cuer
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2. Answer any four questions :

{al

thj
fe)

fej
(e}

3. Answer any two guestions :

{aj

{b)

foj

fcj

ARD—Q70/39

(2)

State the importance
spicules in classification,

erte a short tote on Bryozoa.

Wnte on thf: stmctural features o
hexscanth larva,

“Limulus is a living fossil.” Justify.

Write a note on corpora allata.

Why are echinoderms considered to be;

closely related to chordates than other
invertebratess

Write the general
shell of Nautilus? State the taxonomic’
position of any three of the following :
3+i
Neopaling, Chiten, Doris, Dentalmm,
Sepia
Describe the life history of Asearis. Add
2 note on its parasitic adaptations.
Discuss the affinities and systematic
position of Hormiphora. 5+

What is metamorphosis? Describe the
different types of metamorphosis in
insects giving suitable examples in each
case. Elucidate the r1ole of different
hormones in the progess.

10vax D2

characters  of
Mollusca, What iz the spzciality of the .

6+

243y

{ Continved

)
®
fcl
e

fef
if)

fa)

Answer any four questlons :

Answer any four questions :

(3 )

( Animal Diversity—Ii )

T 2x4
What is a salenocyte? In which cnordate B

ig it present?
What is spiral valve and wherc is it

. found?

What do yuﬁ mean by ‘mouth brooders’? :
Give an example. -
State four distinguishing characters of
Gymnophiona.

Define pterylosis.

What is acrodont dentition?

4x8=16

Mention the  specialized and
degenerated characters of Cyclostomes.

/b) Differentiate  between Neoteny and -

' .
Pagdogeniesis.

fe) Why do birds migr rate?

{d) Write a short note on reptilian Q_fﬁl‘LLtLES
of Monotremata. | _

je) Write a short nete on echolocation in
bat. o )

{(f Draw and label {description  not
required) the schematic diagrams of
gortic arches in an amphibian and a
bird.

MRD—970/39




{4)
i
6. Answer any -twe guestions -

fa) x;s.t is  meant by. retrogressiv
amorphosis? Describe the life cvcle

of Asridia, . - Cﬂ:l;’

Slate the peculiar features of Dipnei,

& comparative account of th .

e
stru?ture of heart of Teleost, Amphibia :
Reptile and Mammal, I

What is exoskeleton? Write short notes :
on any four of the following - YD

i

fiij Hom and antler

&)
fef

Give

fe}

Placoid scaje

fiiii Double respiration in Columbeg
fit) Venous heart

fv) Metanephric kidney

{1} Rectrices and Temiges

L &

D—970/39
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B I (Three Year Hj
Under 1+1+1 System:

2010

ZOOLOGY {Honours)

THIRD PAPER

[ Revised New Syllabus )

;4 heurs Full Marks : Q90
The figures in the margin indicate full marks.
GROUP—A
| Cell Biology and l_{isj:ology }
2x4¥3

Answer any four questions :

Whas is minimal medium?

faj
) Dehine plasmid.
fcj What do you mean by vital stain? Give
ane example.
{dj What is nucleoplasmic index?
fe} What do you understand by membrane
fluidity?
(i Why is haematoxylenc a basic dye and

ensin an acid dye?

{ Turn Ouer



a

Answer any four guestions :

fa}

fbi

fof

e

fe}.

i

3. Answer any two questions @

{eif

o]

(CJ'_

fa

ARD—1320/87

12

4x4=
“G, is the most variable period of the
cell cycle” Elucidate the fact.

Discuss tha: “Differentiotion iz &n

irreversible process”. "

Write the differences between dye and
stain.

Write the working principle  of
fluarescent microscope. Why is mercury
lamp used in it as a source of
illumination? 24
Write a note on totipotency.

Briefly cescribe the structurs of a
nucleoid.

10 x2=
What s cell signalling?® Describe
G protein mediated cell signaling with

the help of suitable diagrams. 2Vs

What is fixative? Mention the different
types of fixative used in histology.
Discuss briefly the principles of fixation.
2+6+2 %
Describe different tvpes of anima! cell
culture with examples for the study of
living cells.
Describe
electron

the structural details of
microscepe.  Discuss  its
working principle. T+

Answer any four questions :

(3)

Grour—B
{ Genetics and Immunology )
21‘4-_"8 :.:

{a) What 18 position effect?
i What is Edwards’ syndrome?
'{cJ What 15 the relation between linkage
and crossing over?
{d} What ig gynandromorphy?
fe) What 1s immunogern’?
(i Which interferon  is  secreted by
NK cells? _ )
Angwer any four questions 4x4=16."
fa) Why is the term Radic’ used in
" Radioimmunoassay {RIAJ? What are the
different classes of antigens used in this.
technigque®
(5) “Bombay Phenotype is due to an
epistatic effect.” Discuss.
) How can you produce metafernale,
netamalie and infersex in Drosophild?
fdj Describe amtibody dependant celhular
cytotoxicity IADCC].
fe) Distinguish hetween sex-linked, sex-
influenced and sex-limited traits with
suitable examples.
() Write a briel ncte on clonal selecuion
theory. )
MRD—1320/87 { Tum Over
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6. Answer any twe guestions :

fu} What is Vaccination?® Briefiy describe
the principle of vaccination. Explain

active and passwve mmunization. 2+4

Write the differerices hetween
cytoplasmic inheritance and nuclea
gene inheritance. Explain cytoplasmi
inheritance on the
mitochondrial genome.

th)

hasis

f¢) What s Immunoeleciropheresis? How ®
does 1t differ from immuneodiffusion?

What are cytokines? Mention its”
function. 2+3+2 4%
fd) Whati is Recombination? How does ®

Holliday medel explain the mechanism
of recombination? 2

L

IRD—1320/87

me : 4 hours

" MRD—1320/88

T 1 B I (Three Year H
Under 1+1+1 System

2010

ZQOLOGY [Honowurs)
FOURTH PAPER
{ Revised New Syllabus )

Full Marks 1 90

The figures in the margin indicate full murks.

GROUP—A

(| Ecology ) o
Define any four of the following : 2%4=8 -:
faj Commensalism :
) Xerosere
{ci Photoperiodism
{dj Protocooperation
fe) Cline
{f Shelford’s law of tolerance

4x4=16

‘Answer any four questions !

inj Distinguish betwecn °
jij  Micro- and Macroparasie
fiij Grazing and Deiritus food chain

o Tum Ozer)




(t2)

b} Expiain J-shaped curve of population
growih. o

ft) Distinguish between facultative and
obligatory - wmutnualism ' with  suitable
example,

{dj Diagraramatically represent  nitrogen
cycle,

fe) Distinguish between -

fii Natality and Mortality
'ffi) Fundamental and Realized Niche

i What do you mean by Y-shaped model
of energy flow in an ecosystem? Why is
it more realistic than box-pipe model?

3. Answer any two guestions : 10%=23=0

fa} . What do you mean by species richness?
Explain Shannon index. Which of the

following communities is more diverse
and why? 214443

No. of individheals  Ne. of individunls
of species 1 of species 2

Community A 99 ’ 1
Coammunity B 5C 50
IRD—1320/88 f Continued

fb)

fc)

(i

Where do vou find inverted pyramids? '-
What are the physical and biclogical .-
features of desert? What do you know - .

by Lindeman’s 10% rule o oan
ecasystem? Distinguish between
autotrophic and heterotrophic
succession. 2+4+2+2%

What do you mean by age-specific and
time-specific  life  table?  Mention
different types of survivorship curves.
What do you mean by emigration and
immigration? What are v and k-selected
species? 2+3+243)

Give an account of the adaptations. -
found. in animals with reference to light- -

and temperature. 3-51

GROUP—B

[ Zoogeography, Wildlife and Biodiversity } _.

4. Answer any four guestions :

(aj
o}
()

MRD—1326/88

214=

What is cryopreservation?

“Write the full name of TRAFFIC.

Name two mammalian species that are
common to Nearctic and Neotropical
realms.

T Toirri OW t’
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B-—1320/88

"

fd
fe}

i

Answer any four questions :

fa}

&)

fe)

i}

fel

Answer any two questions ; 1GWex2=21

fe)

{4)

Define wildlife.

What do vou mean by Biosphere
Reserve? '

Name two sanctuaries of West Bengal,

44

Write short nete on biclogical
magnification. :

Comment on the favnal diversity of
ariental and Ethiopean realms.

Discuss the effectiveness of barners in
speciation.

Give a note on land bridges as the
means of animal dispersal and the
comsequent evoluticnary impact.

What is Red Data Book? What do you
understand by critically endangered
species? 2+

Whar do you understand by era, period
and epoch? What is Helocene epoch? .
S 3+

Define fussil. Enumerate the conditions
that favour fossilization. QGive the
evalutionary impartance of fossils,

| 2+4l4.4

A Continued }

{b) WName two biodiversity hot spots of
Indiz. What do you understand by
Endemism? Why biodiversity hot spots
need to be conserved? Write a brief
account of any one biodiversity hot spot

" of India.

fc) Discuss the faunal explosion during the
I Mesazoic era in the context of reptiles,

{d) Give an outline classification of different
types of barriers to andmal distribution.
Discuss the impact of barriers on

animal evolution.

RD—1320/88

L

2+2+3+3%: -

10%

10% .




